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S.E. (Production) (II Sem.) EXAMINATION, 2010

INDUSTRIAL ORGANISATION AND MANAGEMENT &

(2008 COURSE)
Time : Three Hours Maximum 1\@9 100
N.B. :— (i) Answer 3 questions from Section I and 3 questions from
Section II. Evb
(i) Amnswers to the two Sections shﬂuI' written in separate
answer-books. %
(17) Use of caleculator is allo%
(tv) Figures. to the right g\mte full marks.
(v) Answer one questiQm 1 & 2 3 & 4,65 & 6 17
&3,9&10,0& 2,
N
%SECTION I
3 UNIT 1
1. (a) ExplainQO§efly the 14 principles of modern scientific
man ent [10]
(b) D§B matrix organization. Which of the organization principles

violated in this structure ? [6]
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2. (a)
(b)
3. (a)
(b)
(e)
4, (a)

N
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Or

Explain why has Frederick W. Taylor been called “Father of

Scientific Management. ‘ [8]

Which of the principles of organization are violated e

and functional organization ? How line and staff &1 ation

8]
<

L
UNIT II b
'

Explain Herzberg’s motivamrs-hygienewry. Why are motivators

overcomes these limitations ?

and hygiene factors considered 56691;9 and distinct from each
other. Also explain major t@sm of this theory. (8]

L 4
Discuss the concept of agerial grid in leadership. [6]

What do ‘you mean _h@up cohesion ? Explain factors which

increase group c@n. [4]
& Or .

What do }@uean by situational theories of leadership, how

si al variables considered by Fiedler in his contingency

they Efe different from trait and behavioural theories. Discuss

ory. [10]

xplain McGregor’s theory X and theory Y of motivation. What

are its implications for motivational practices ? (8]
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5. (a)
(b)
6. (a)

(b)

UNIT III
Discuss the basic elements of business plan. . [10]

An entrepreneur has current sales of 50,000 units with sgles

of Rs. 5,00,000. If variable cost per unit and fixed e
Rs. 5 and Rs. 70,000 respectively. Find : Q
() Break-even point ()

(iz) Margin of safety .

(i1i) Suggest increase in the sales, , b

if the entrepreneur thinks of reducin e price by 20% without
any change in variable cost, 8 cost and profit. [6]

Define entrepreneur and ‘aneursmp. What are the different
]

growth strategies avaiMle t8 an entreprencur ? Discuss. [10]

An entrepremmr@msiness of producing circuit breaker. The
fixed cost of building etc is Rs. 40,000 and the variable
cost is Rs. 10 per unit. If the selling price is Rs. 20 per
unit, \$h{:uld be the minimum operating level for no profit

If the business is operating at preset level and

no
p&iun is 8,000 units, what is the profit and margin of

@ety. ‘ [6]
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SECTION II
UNIT IV

7. (a) Define marketing and discuss the steps in marketing management
process. . [8]
(b) Describe the major decisions involved in developing dvertising

program. () [8]

Or
_ .
8 (a) List and explain the stages in buy&@siun process. [8]

e
(b) What do you mean by sales promotm Explain various sales

promotion tools. % [8]
. QO

UNTWY

9. (a) What do you me:n hg’;ecruitmcnt and selection ? Explain

selection process NgJ detail. [8]

(b) Explain v%ﬁ‘types and methods of training. [8]

Or
.
10. (a) D@nanpﬂwer planning. Discuss various steps in manpower
lanning process. (8]
) efine training and development. What are the various objectives
and benefits of training and development ? [8]
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UNIT VI

11. (a) Define job evaluation. Explain point method of job evaluation. [8]

(b) Briefly enumerate the provisions of Factory’s Act, 1948 ens@

safety of the workers.

(¢) Standard or allowed time for a job is 2 hours a@(ms

are paid at hourly rate of Rs. 35 A worker took hours

less than allowed time. .
Find out by Rowan plan : . b
(i) Bonus and wage of the wurkeQ\

(ii) Compare above values to b d wage under 50-50
Halsey plan. (4]

O

which an employer is orized .to make from the wages of

12. (a) Define wage as per Paym :ﬂz&ges Act, 1936. Explain deductions

worker under th1 [8]
(b) Define merit r&sMy. List down methods of merit rating and
explain any two of them. [6]
(¢) An wo employed to manufacture. M.S. pins at wage

rate g Rs/hour. Standard or allowed time is 2.5 hours. What
18

aranteed wage to be paid to him. If he finishes the

%m 80 minutes what is bonus and wage to be paid to him.
e 75-25 Halsey plan. [4]
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